
SEX5 - 5PC SCREW EXTRACTOR SET

Parts Breakdown



Item: SEX5

Description: 5PC SCREW EXTRACTOR SET

 N/ANotes:

Figure No Part Number Description No. Reqd Warranty Code

1 SE1A 1/8 IN SCREW EXTRACTOR 1 A

2 SE2A 3/8 IN SCREW EXTRACTOR 1 A

3 SE3A 7/16 IN SCREW EXTRACTOR 1 A

4 SE4A 1/2 IN SCREW EXTRACTOR                                1                A

5 SE5A                    5/8 IN SCREW EXTRACT                                     1               A


